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|2 has faclors 1,2,3 &6 12 sohos 4 pr adbrs: 2, 3 4 andb.
16 hos factors 1,2,4,8,16 50 hos Bffo’yr ctoss : 24 and 8

N PP p then cuch foctor of N s some combination of Ele .
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e have €'() 1(-2¢) = 2+ ZosZx | and o) =1 (o) =-.

g() = (i) +F(-3).

(0)- F(o)-l-?lo) = 2.

é)(gcs Flox) -£(-2)

( ’{O) = Flo) -f(o) >0.

"{x) =€ "(x) + F'1-x),

Now F"(%) = x4 33> -{(-2)

= F-X) =-xt 3¢052x - F ()

50 C! ") = 3 + 3ol £C-X) = X+ BegsZ=x ~ F(X)

= 6cosZx - (f() rf(-oY)

&easZz -g (x).

So ') +a(x) =6ces2x.
J ,
CY: q(x) p Acas):—L Bsinx
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D X=-2.

S qlx) = Acosx + Bsinx = 70050
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3
So q(i,) = Losx - JuosZ =,




Now h(d) = F(x) - F(-x)

L' (2)7 €100y +€'(-x)

L” {X) :F“{)c\ —FHZ -x)
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T (46)0TE) Ztemn it son be mode fom o EX oy the Flst bracket
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